
Имя: Ключ к правильным ответамКомбинация слагаемых

Математика www.CommonCoreSheets.ru 6 1-10 93 86 79 71 64 57 50 43 36 29
11-14 21 14 7 0

Ответы

1. 18

2. 12

3. 2

4. 13

5. 11

6. 9

7. 2

8. 7

9. 7

10. 2

11. 6

12. 14

13. 15

14. 4

Заполните пропуск, чтобы получился аналогичный пример.

1) 15 + 3 + 2 = 20
18 + 2 = 20

2) 6 + 6 + 5 = 17
12 + 5 = 17

3) 16 + 1 + 1 = 18
16 + 2 = 18

4) 12 + 1 + 6 = 19
13 + 6 = 19

5) 3 + 10 + 1 = 14
3 + 11 = 14

6) 11 + 8 + 1 = 20
11 + 9 = 20

7) 18 + 1 + 1 = 20
18 + 2 = 20

8) 3 + 4 + 3 = 10
3 + 7 = 10

9) 2 + 6 + 1 = 9
2 + 7 = 9

10) 18 + 1 + 1 = 20
18 + 2 = 20

11) 12 + 1 + 5 = 18
12 + 6 = 18

12) 12 + 2 + 4 = 18
14 + 4 = 18

13) 13 + 2 + 5 = 20
15 + 5 = 20

14) 1 + 3 + 8 = 12
4 + 8 = 12
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